

SEATTLE CITY COUNCIL

April 17, 2017

Introduction and Referral Calendar

List of proposed Council Bills (CB), Resolutions (Res), Appointments (Appt) and Clerk Files (CF) to be introduced and referred to a City Council committee

Re	cord No.	Title	Committee Referral
	By: Burgess		
1.	<u>CB 118948</u>	AN ORDINANCE appropriating money to pay certain audited claims and ordering the payment thereof.	Full Council
	By: Burgess		
2.	<u>CB 118949</u>	AN ORDINANCE amending Ordinance 124927, which adopted the 2016 Budget, including the 2016-2021 Capital Improvement Program (CIP); changing appropriations to various departments and budget control levels, and from various funds in the Budget; and ratifying and confirming certain prior acts, all by a 3/4 vote of the City Council.	Affordable Housing, Neighborhoods, and Finance Committee
	By: Burgess		
3.	<u>CB 118950</u>	AN ORDINANCE amending Ordinance 125207, which adopted the 2017 Budget, including the 2017-2022 Capital Improvement Program (CIP); changing appropriations to various departments and budget control levels, and from various funds in the Budget; and ratifying and confirming certain prior acts, all by a 3/4 vote of the City Council.	Affordable Housing, Neighborhoods, and Finance Committee
	By: Burgess		
4.	<u>CB 118951</u>	AN ORDINANCE authorizing, in 2017, acceptance of funding from non-City sources; authorizing the heads of the Executive Department, Department of Education and Early Learning, Department of Parks and Recreation, Human Services Department, Seattle Fire Department, Seattle Police Department, and Seattle City Light, to accept specified grants and private funding and to execute, deliver, and perform corresponding agreements; and ratifying and confirming certain prior acts.	Affordable Housing, Neighborhoods, and Finance Committee
	By: Burgess		
5.	CB 118952	AN ORDINANCE amending Ordinance 125207, which adopted the 2017 Budget, including the 2017-2022 Capital Improvement Program (CIP); changing appropriations to various departments and budget control levels, and from various funds in the Budget; adding new projects; revising project allocations for certain projects in the 2017-2022 CIP; creating both new exempt and non-exempt positions; modifying positions; making cash transfers between various City funds; lifting a proviso; and ratifying and confirming	Affordable Housing, Neighborhoods, and Finance Committee

By: Burgess

6. Appt 00680 Reappointment of Matt Hanna as member, Pike Place Market Preservation and Development Authority Council, for

a term to June 30, 2020.

Affordable Housing, Neighborhoods, and Finance Committee

By: Harrell

7. Res 31744 A RESOLUTION relating to the Seattle Sister Cities

Program: recognizing the legacy of The City of Seattle's

Program; recognizing the legacy of The City of Seattle's relationship with the City of Mazatlán, Mexico, and declaring the designation of emeritus status to the sister city affiliation between The City of Seattle and the City of Mazatlán, Mexico; recognizing the importance to The City of Seattle of maintaining a sister city relationship with a city in Mexico; and lifting the moratorium on accepting applications for establishing new sister city affiliations for the limited purpose of accepting an application for the establishment of a new sister city affiliation with a city in Mexico.

Education, Equity, and Governance Committee

By: Johnson

8. <u>Appt 00662</u> Appointment of Melissa Alexander as member, Seattle

Design Review Board, for a term to April 3, 2019.

Planning, Land Use, and Zoning Committee

By: Johnson

D. Appt 00663 Appointment of Belinda Bail as member, Seattle Design

Review Board, for a term to April 3, 2019.

Planning, Land Use, and Zoning Committee

By: Johnson

10. Appt 00664 Appointment of Brian Bishop as member, Seattle Design

Review Board, for a term to April 3, 2019.

Planning, Land Use, and Zoning Committee

By: Johnson

11. Appt 00665 Appointment of Andrew Haas as member, Seattle Design

Review Board, for a term to April 3, 2019.

Planning, Land Use, and Zoning Committee

By: Johnson

12. Appt 00666 Appointment of Anita M. Jeerage as member, Seattle

Design Review Board, for a term to April 3, 2019.

Planning, Land Use, and Zoning Committee

By: Johnson		
13. Appt 00667	Appointment of Crystal Loya as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
14. Appt 00668	Appointment of Patreese Martin as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
15. Appt 00669	Appointment of Kenny Pleasant as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
16. Appt 00670	Appointment of Stephen Douglas Porter as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
17. Appt 00671	Appointment of Brian Walters as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
18. Appt 00672	Reappointment of Christopher Bell as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
19. Appt 00673	Reappointment of Barbara Busetti as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
20. Appt 00674	Reappointment of Donald A. Caffrey as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson		
21 . Appt 00675	Reappointment of Carey Dagliano-Holmes as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee

By: Johnson 22. Appt 00676	Reappointment of Grace Leong as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
<u>By: Johnson</u> 23. <u>Appt 00677</u>	Reappointment of Homero Nishiwaki as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson 24. Appt 00678	Reappointment of Charles Romero as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: Johnson 25. Appt 00679	Reappointment of Keith P. Walzak as member, Seattle Design Review Board, for a term to April 3, 2019.	Planning, Land Use, and Zoning Committee
By: O'Brien 26. Res 31742	A RESOLUTION granting conceptual approval to Lakefront Investors 1 LLC and Lakefront Investors 2 LLC to construct, install, and maintain four sets of private communication conduits under and across Boren Avenue North, north of Mercer Street, and under and across the alley between Boren Avenue North and Fairview Avenue North, north of Mercer Street.	Sustainability and Transportation Committee
By: O'Brien 27. Res 31743	A RESOLUTION approving the Seattle Pedestrian Master Plan.	Sustainability and Transportation Committee
By: O'Brien 28. Appt 00658	Appointment of Ifrah Abshir as member, Seattle Transit Advisory Board, for a term to August 2, 2018.	Sustainability and Transportation Committee
By: O'Brien 29. Appt 00659	Appointment of Andrew P. Martin as member, Seattle Transit Advisory Board, for a term to August 2, 2018.	Sustainability and Transportation Committee
By: O'Brien 30. Appt 00660	Appointment of Carla D. Saulter as member, Seattle Transit Advisory Board, for a term to August 2, 2017.	Sustainability and Transportation Committee

By: O'Brien

31. Appt 00661

Appointment of Jennifer Malley as member, Seattle Transit Advisory Board, for a term to August 2, 2017.

Sustainability and Transportation Committee